
Example JCL 
The following example JCL can be used to run NETPFIL1 or NETPFIL2 in an OS/390 or z/OS
environment. 

//YOURJOB  JOB (0),’NET-WORK’,
//         CLASS=A,MSGCLASS=X,MSGLEVEL=(1,1)
//FILTER1  EXEC PGM=NETPFIL1                               <--- see Note 1 
//STEPLIB  DD  DSN=NETWRK.vrs.LOAD,DISP=SHR                <--- see Note 2
//         DD  DSN=ADABAS.vrs.LOAD,DISP=SHR                <--- see Note 3
//NETFILE  DD  DSN=NETWRK.vrs.NETPRNT,DISP=SHR             <--- see Note 4
//DDCARD   DD  *                                           <--- see Note 5 
  THIS COMMENT WILL BE PRINTED AT THE BEGINNING OF THE OUTPUT
  DATE=20000316
  STARTTIME=12570000
  ENDTIME=12580000
  LOG=T R A C E
* LOG=IDDDATA
  TRACE=
* TRACE=SENDOUT
//DDPRINT  DD  SYSOUT=*,DCB=(LRECL=121,BLKSIZE=1210,RECFM=FBA)
/*

Notes:

1.  Specify the utility program you want to run. 
2.  This is the same load library you use to run Entire Net-Work. 
3.  This is the same Adabas or WAL load library you use to run Entire Net-Work. 
4.  This is the file that was created by Entire Net-Work with DDNAME NETPRNT. 
5.  This is the parameter file and may be any sequential file with LRECL=80. 
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